
1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

E04613

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A) 25:16 (B)16:25 (C)36:25 (D)49:36 (E)None of these

Q.8:-A fruit vendor sells apples and oranges and gets equal revenue from each. He gets ma 
profit of 20% on each apple and a profit of 25% on each orange. If the ratio of the number 
of oranges sold to the number of apples sold is 3:2, what is the ratio of the cost price of an 
orange to that of an apple?
एकफल विके्रता सेबऔर संतरे बेचता है और प्रते्यक से समान राजस्वप्राप्तकरता है। उसे
प्रते्यक सेब पर 20% कालाभऔर प्रते्यक संतरे पर 25% कालाभ प्राप्तहोता है। यवि बेचे गए
संतरो ंकी संख्याका बेचे गए सेबो ंकी संख्या से अनुपात 3: 2 है, तो एक संतरे के लागत मूल्यका
एक सेब के क्रय मूल्य से अनुपातक्या है?
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(A)Rs.7000 (B)Rs.8000 (C)Rs. 7800 (D)Rs.7500 (E) Rs. 8500

Q.9 :-The ratio between the price of a scooter and a T.V . is 9: 5 respectively. If the price of 
the scooter is Rs .6000 more than the price of the T.V. what is the price of the T.V.?
एक सू्कटरऔर एक टी.िी. की कीमत के बीच का अनुपात। क्रमशः 9:5 है। यवि सू्कटर की
कीमत टीिी की कीमत से 6000 रुपये अविक है, तो टीिी की कीमतक्या है?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

Q.10 :-The profit earned by selling an article for Rs. 1516 is equal to the loss incurred by 
selling the same article for Rs. 1112. what is the cost price of the article ?
एक िसु्त को 1516 रुपये में बेचने पर अवजित लाभ उसी िसु्त को 1112 रुपये में बेचने पर हुए
नुकसान के बराबर है। िसु्त का लागत मूल्यक्या है?

(A)1314 (B)1343 (C)1414 (D)1434 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1120 (B) 1020 (C) 1280 (D)1200 (E)None of these

Q.11 :-A man sells a chair at Rs.960 and earns a profit of 20%. If the man wants to sell it at a 
profit of 40%, then at what price he should sell the chair?

एकव्यक्तिएक कुसीको 960 रुपये में बेचता हैऔर 20% कालाभअवजितकरता है। यविव्यक्ति
इसे 40% के लाभ पर बेचना चाहता है, तो उसे कुसीको वकसकीमत पर बेचना चावहए?
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(A)5apples (B)8apples (C)10apples (D)15apples (E)None of these

Q.12 :-By selling 12 apples for a rupee, a man losses 20%. How many for rupee should he sell to gain 
20% ?
एकरूपये में 12 सेब बेचने पर एकआिमी को 20% की हावन होती है। एक रुपये में िह वकतने
सेब बेचे की उसे 20% का लाभ हो ?
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(A)Rs.200 (B)Rs.240 (C)Rs.300 (D)Rs. 450 (E) Rs. 600

Q.13: -Price of an article is marked up 50% above the cost price. If the discount offered on the article is 
Rs. 50 and the profit earned is also Rs. 50, what is the marked price of the article?
एक िसु्त का मूल्यक्रय मूल्य से 50% अविक अंवकत वकया गया है। यवि िसु्त पर िी जाने िाली छूट
रु. 50औरअवजित लाभ भी रु. 50, िसु्त का अंवकत मूल्यक्या है?
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Q.14:-A table is sold at a profit of 20%. If both the cost price and the selling price of the 
table are decreased by Rs. 100, the profit would be 5% more, original cost price of the table 
is

एक मेजको 20% लाभ पर बेचा जाता है। यवि मेज के क्रय मूल्यऔर विक्रय मूल्यिोनो ं में 100 रू. 
कीकमीकर िी जाती है तो लाभ में 5% और िृक्ति हो जाती है, तो मेजका िास्तविक मूल्य है

(A)600 (B)500 (C)650 (D) Cnd (E)None of these
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Q.15:- When a person sold an article, his profit percent is 60% of the selling price. If the 
cost price is increased by 75% and the selling price remains the same, then find decrement 
in the profit is what percent of the selling price of the article? 
जब वकसीव्यक्ति ने एकिसु्त बेचा, तो उसका लाभ प्रवतशत विक्रय मूल्यका 60% है। यवि लागत
मूल्यमें 75% की िृक्तिहुई हैऔर विक्रय मूल्यसमान है,लाभ% में वगरािट िसु्त के विक्रय मूल्य
का वकतना प्रवतशत है?

(A)25% (B)30% (C)40% (D)27.5% (E)None of these
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(A)500 (B)550 (C)600 (D)650 (E)None of these

Q.16:- A watch is sold at a profit of 20% if both the cost price and selling price of the watch 
decreased by Rs. 200, the profit would be 10% more. original cost price of the watch is? 

एकघडीको 20% लाभ पर बेचा जाता है, यवि य मूल्यि विक्रय मूल्यिोनो ं में ही रू. 200 कोकमी
कर िी जाये तो लाभमें 10% की िृक्ति हो जाती है घडीका िास्तविकक्रयमूल्यज्ञातकरें?
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(A)8000 (B)9000 (C)10000 (D)7000 (E) None of these

Q.17:- A man sells a TV at a profit of 25% of the cost, had he sold it at a profit of 25% of the 
selling price, his profit would have been 750 Rs more. The cost of the TV is
एकआिमी एक टीिी को लागत के 25% के लाभ पर बेचता है, यवि िह इसे वबक्री मूल्य के 25% 
के लाभ पर बेचता तो उसका लाभ 750 रुपये अविक होता टीिी की लागत है
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(A)364 (B)392 (C)350 (D) 332 (E) None of these

Q.18:- A trader sold an article at 12% loss . Had he sold the article for Rs. 109 .20 more, he 
would have earned a profit of 30% .What would be the selling price of the article if the 
article is sold at 40% profit ?
एकव्यापारी ने एक िसु्त को 12% हावन पर बेचा। यवि उसने िसु्त को रु. 109 .20अविक, िह
30% का लाभअवजित करता। यवि िसु्त को 40% लाभ पर बेचा जाता है तो िसु्त का विक्रय मूल्य
क्या होगा?
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